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[PEHICHTIRA - THEES] <BfT : FH>
X 4 %A e H
2 3 & VATEE | wam BAE HEER FiE
— =5t 56, 852 56, 943 100. 2% 46, 253 81. 4%
EEE N — LEEER S 167, 622 168, 662 100. 6% 147, 657 88. 1%
VERh R 1, 862, 940 1, 835, 348 98. 5% 1,743, 802 93. 6%
KREBGEERERISE 101, 365 103, 722 102. 3% 93, 446 92. 2%
EESEERNSF 51,524 51, 527 100. 0% 42, 221 81. 9%
T AR E R AR 40, 250 40, 254 100. 0% 1,524 3.8%
& =t 2, 280, 553 2, 256, 456 98. 9% 2,074, 903 91. 0%
[—RRHBARETEORR] ‘
<& A> <Ef: FH> ’gﬁ H> <BH7 . TH>
R 3AKTRE [3HARMAAR WA = SARTBE [SARZHAR PUTE
SHEHER AR 51,019 51,019 | 100.0% = & E 2,676 1,653 | 61.8%
B OE X A 3 4| 133.3% N ® % 53, 376 44,600 | 83.6%
®g A & 3, 049 3,049 | 100. 0% S - - 800 0 0. 0%
BB & 2, 750 2,750 | 100. 0% 2% HAEH 56, 852 46,253 | 81.4%
E3 % A 31 121 | 390. 3%
mASE 56, 852 56,943 | 100.2%
[BEEWEZEAR—LEZEZEISHBARETEORR]
< A> <B4 FH> < H> <Hf7 . FH>
e 3AKTEE [3ARNAEE WAE I = 3ARTRE A RZHEE BUTE
g%ﬁ%uﬁg 95, 293 98,149 | 103. 0% E /T%%%% 122,077 106, 591 87. 3%
Bt & N F4 36, 223 34,383 | 94.9% N =
M OE X A 173 173 | 100. 0% = - 44,745 41,086 | 91.8%
# Bt & 1 0 0. 0% ¥ & % 800 0 0. 0%
& A & 16, 864 16,864 | 100. 0% A 167, 622 147,657 | 88.1%
= 214 & 18,932 18,933 | 100. 0%
E3 X A 136 160 | 117.6%
mASE 167, 622 168, 662 | 100. 6%
[;EIW%EIJ n+ﬁlﬁtﬂ$§0)ﬁ5ﬁ]
<B A <BAfT  FH> <& H> <Bf7 . FH>
%?9: SAKRTEE |3ARNAFHE INAE = SAERTELE SARIHERE FITER
SEERCEHE| 1,728,356 | 1,728,356 | 100.0% i 5] | 1,797,271 | 1,685,401 93. 8%
EAEEROFH 1,417 1,579 | 111.4% N iy % 63, 169 58,401 | 92.5%
EE X H4& 23,110 0 0.0% Big ] % 2,500 0 0. 0%
MOE X A 185 186 | 100. 5% EHEEt 1,862,940 | 1,743,802 | 93.6%
% A & 29, 700 29,700 | 100.0%
pd 44 & 44, 592 44,592 | 100. 0%
B4 X A 6, 980 2,335 | 33.5%
# = & 28, 600 28,600 | 100. 0%
ﬁl &t 1,862,940 | 1,835,348 | 98.5%
[kﬁﬁ%#ﬁﬁﬂ%#ﬁlﬁtﬂ%;w&&]
<i& A <HH7 . FH> <mE H> <HA . FH>
%: 3A kT BAE [3A R A WAE l = SARTERE AKX MEE BUTE
SEEER VAR 67, 039 67,039 | 100. 0% & 3 £ 100, 827 03,446 | 92.7%
ERR R OF# 20, 447 22,903 | 112.0% ¥ & % 538 0 0. 0%
M OE I A 85 85 | 100.0% RHEET 101, 365 93,446 | 92.2%
o3 A & 5, 600 5,600 | 100. 0%
fe 211 & 7,984 7,984 | 100. 0%
B3 Iz A 210 111 52. 9%
BAGE 101, 365 103,722 | 102. 3%
[BERERRISHBRARETEORN]
<k A> <HBAHL: FH> < > <HfL: FH>
2 3ART B |38 RINAEE] DK [ & 3R T B [3A R XHAEE BITE
SHEERVARE 42,839 42,839 | 100.0% 2 = £ 50, 724 42,221 | 83.2%
M OE IXx A 6 6 | 100.0% Big i % 800 0 0. 0%
o 24 & 8, 677 8,678 | 100. 0% A E 51, 524 42,221 | 81.9%
E3 % A 2 4 | 200.0%
mASE 51,524 51,527 | 100.0%
[CHUBEERISHBARETEORR]
<& A> <HEfHr:FH> <mE > <EH:FH>
= SHERTER |3ARNAFELE| INAR = SAXRTEE 3AXRXIHER BIT=H
SHEERTEHE 30, 471 30, 471 | 100.0% & A % 40, 050 1, 524 3. 8%
=3 24 & 9,777 9,777 | 100. 0% ¥ & % 200 0 0. 0%
B3 I A 2 6 | 300.0% EHEE 40, 250 1,524 3.8%
mASE 40, 250 40, 254 | 100. 0%
[MHEHRME] [ £] <HfT: [{>
< > <MEEME : m> MERAEES 35,012
&2 HHBAE B HIERT 1,919. 14 EHEFAR—LEELS 52, 569, 520
S2HEBEE K IRRT 1,731.96 EEFEEES 67, 453, 965
By HEH 13, 139. 00 KEEEEEELS 37, 367, 556
&  Ft 16, 790. 10 §§A$¥§é 7,877,997
[HHEROBRER] < BT . FH> S5 T %ﬁ*%%gé 53, 000
[VEBh Rt & 165, 357, 050
HERMEE S 63,913
t&ﬁ/\i@@ﬁtﬁﬁm*ﬁéé 368, 126
HEEE 198, 140
& &t 630, 179




